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vanced Mathematics

guestions from

from Section B and Three

Section C. Statistical tables are available on

demand.

Section—-A Marks : 30

1. (a) Provethat

is a solution of the differential equation,
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(b) Solve:
d‘ —- 2 v
__é - exf + X*e_
ax ~

(c) Solve:

3, 7 A2
Cy JAdy &,

o d¥ dx

Find the Laplace transform of sin 2t sin 31,

o
5

(e} Findtheinverse Laplace transforms of

() The following data gives ihe number of
children in 20 families :
5.2331,2242541,12341,1,

2,3.

Make an array of e above dala and
construct a freguency 'aciz. < 2
~

(0) Theweightof 15 students are given DEIow .

5

Weight {inkgs): 50 52 54 55 57
No.of Students: 4 5 2 3001

Find the mean weight.
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Define mzzs_-= 27 dispersion.
The runs scz-=2 27 1 members of a cricket
teamars:

) m=r -+
34, 27,1

f)l
(A

.27 20,153,453, 55,0, 20.

~ Find the mszian scire.

Examine == va 2ty of the following
statement:

“The mean of tinc~'al distribution is 10

4w

and variance is 16.

A random variate x ‘cllows a Poisson
distribution with zzrz~satar 4. Find the

the values |
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than 2.
Find the area under tre - 2rmal curve when
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(m) The coefficient of correlation between two
variables X andY is 0.64, their covariance
is 6.72. If the standard deviation of Y is 3.5,

.ﬁnd the variance of X.

(n) Findthe value ot the correlation coefficient

it b, =—6andb =-1.35

(0) In a frequency distribution, the median
is 38, Bowley’s coefficient is 0.6 and

Q, + Q, = 100. Find Q, and Q,.

Section-B Marks 5 Each
2. Solve:
2y + (x+ 1)°
dx  x+1
3. Find the inverse Laplace transforms of
S>> ’
s - 105+ 13
s- T)i§ ~-55-86)
N 4 . :
1.2.2
U-2
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4. Use Laplace transforms to solve :

d2y

dy -

y(0) =

5. U A contains 1 white, 2 black and 3 red balls,

urn B contains 2 white, 1 black and 1 red balis
and urn C contains 4 white, 5 black and 3 red
balls. One urn is selected at random ang two
balls are drawn. These happen to be one white
and one red. What is the probability that they

come fromurn A ?

6.  Find the binomial distribution when the sum of

its mean and variance for 5 trials is 4.8,

Section-C Marks : 10 Each

7.  Solve: %
d2 d = . U
] y+4.-ji’+ 3y =X+ 6" sinx ~
ux ux R et
- o
{00 ' Turn Over .
-2



b R D PR T e

(6)

8 . Use Laplace transforms method to solve .

"
2 isx-2y=1{
dr y

%+zx+y=o.x(o>=o,y(0>=0.

Given below marks obtained by ten students in
two subjects

Maths Statistics
58 56
59 87
60 89
65 46
66 93
52 65
75 44



10. Theincrease in wéig»hts due to two kinds of food

are given below. Can it be said that food B is

(7

better than food A ?

Food A

49

53

L3

Food B

52

55

52

53

50

54

54

53



